Unit 1 Study Guide
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The proportion of two similar paintings is (in inches):
8 24

6 18

Which of the following does not represent a proportion of similar paintings?
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Two paintings hang in different parts of the gallery, One painting is 9 inches by 11 inches. The other

painting is 13 inches by 15 inches. Is the larger painting proportional to the smaller one? If yes, what is
the scale factor?
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' Yes, the scale factor is 4.

t‘ 13\10, there is no scale factor that makes the pictures proportional.
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What is the ratio of the shortest side to the longest side for the rectangle shown? Write the ratio as a
simplified fraction. —_—
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This original photograph was reduced in size to make a smaller copy. What was the scale factor?
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The dimensions of several paintings are shown. Which of the dimensions represent a painting that is proportional to one that is 12
cm by 20 cm painting? Select all that apply.
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There is a sale on shoes. The new shoes are on sale for $45 dollars. The original price was $65. What is the ratio of savings to the
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Which of the following does not represent a proportion for the same similar figures?
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The ratio of students to classrooms is 32 students to 1 class. What statement is not accurate according to this ratio?
0 If there were 64 students you would have 2 ciasses.'ﬂzug 3‘3? K 0 4/ ' . ==
T 3273 =10.66

0 One class contains 32 students. ‘Tﬁug ’ ) 9?

) 8 students make up one-third of a class. o L9 ——-’j\”’—ﬁ
0 Aclass and a half are 48 students. e

. Ahalf a class is half of 32 students.
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White and black checkers are shown. Which statement is not true? L8 P Ll ,:}
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If the checkers were shared with 3 people, each would get 2 white and 2 3 black checkers.
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0 If you doubled the number of white checkers and doubled the number of black checkers, the ratio would not change. R \&
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Consider the rectangle with the dimensions shown. Which of the following ratios does not illustrate a
comparison between the two dimensions?
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The two rectangles shown are proportional. Given the area of the small rectangle, what scale factor can be used to find the area
of the large rectangle?
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If the scale factar is smaller than 1, what statement will not be true about the new, similar object?

' The new object will have smaller dimensions than the original object.

0 The object's area will be smaller than the original object.

' The object will be reduced in size. —
~ The ratio of the new width to the new length will be smaller than the ratio of the original width to the ariginal length. g[
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